FIEIL SRAER READ - BRERI (1)

E S N . S~ B OF # % BmoOF %
* L [FVPTyeS e L SR YP9) QUPS v B B LT [EPPYR [P
% % % # % % (C2Y
Il os& L # %] 15607| 18,160 -2,553| -14.1| 4,827| 5792 -965| -16.7 30.9 31.9 -1.0
| = n 74 73 1 14 61 62 -1 -1.6 82.4 84.9 -25
% A 14 13 1 7.7 13 15 -2| -133 929| 1154| -225
[ ® 22 36 -14| -389 18 25 -7| -280 8138 69.4 12.4
% x 27 13 14| 1077 19 13 6| 462 704| 1000| -296
[ # 11 11 0 0.0 11 9 2| 222] 1000 81.8 18.2
#H ] L 914 980 -66] 6.7 809 860 -51 -5.9 88.5 8738 0.7
XIZFERES
7® 7 597 641 -44] 6.9 554 581 -27| -46 9238 90.6 2.2
5 = 242 267 -25| -9.4 198 229 -31| -135 8138 85.8 -4.0
Z b} 39 36 3 8.3 34 29 5 17.2 87.2 80.6 6.6
Fid g 36 36 0 0.0 23 21 2 9.5 63.9 58.3 5.6
% & 8l 10971 13,138 -2,167| -165] 3,119| 4083 -964| -23.6 28.4 31.1 -2.7
& A #®| 1631 1936 -305 -158 641 807| -166| -20.6 393 417 -2.4
£ Y ¥ & 27471 33271 -580| -17.4 170 482 -312| -647 6.2 14.5 -83
¥k & A #&| 6593 7875 -1282| -16.3| 2308| 2794| -486| -17.4 350 355 -05
%N HE n 723 768 -45| -59 323 348 -25|  -72 447 453 -0.6
E #® 665 718 -53|  -74 283 314 -31 -9.9 426 437 -11
# 8 21 29 -8| -276 14 22 -8| -36.4 66.7 75.9 -9.2
# & 36 20 16/  80.0 25 11 14| 1273 69.4 55.0 14.4
b 1 1 1 0 0.0 1 1 0 00| 1000/ 1000 0.0
HoEtANEE
= =
I3 & o 110 148 -38| -25.7 66 61 5 8.2 60.0 412 18.8
B 1] 2 2 — 2 2 —| 1000 —
EBHlH L ED 49 73 -24|  -32.9 40 35 5 143 81.6 479 33.7
BRDHWLED 55 69 -14 -203 19 20 -1 -50 345 29.0 55
HhlLeE 2% 4 6 -2| -333 5 6 -1 -17|  1250| 1000 25.0
ZTOfdFEIL] 2815 3,053 -238 -78 449 378 Al 18.8 16.0 12.4 36
& BB R iR R 197 193 4 2.1 110 93 17 18.3 55.8 482 7.6
DERITHE 17 18 -1 -5.6 19 18 1 56| 1118 1000 118
T B & A 302 385 -83| -21.6 125 106 19 17.9 414 275 139
B oW K E 4 5 -1 -200 3 5 -2 -40.0 750 1000 -25.0
BEIRZEHSE 3 2 1 50.0 3 2 1 500] 1000 100.0 0.0
B & 16 17 -1 -5.9 15 16 -1 -6.3 938 941 -03
3 W 18 | 2210 2345 -135 -5.8 141 110 31 28.2 6.4 47 1.7
T O 66 88 -22| -25.0 33 28 5 17.9 50.0 31.8 18.2




FsEIL SRFERI  FR&0 - REK] (2)
B # A R A X 5 &
* B s | B g e 2 P g | g | n P
A B % 8 % A B %
Tl % 30 # %] 2845 2990 -145| -48] 2536 2557 -21 -0.8 309 433 -124| -286
X = n 50 60 -10| -16.7 47 52 -5 -96 3 8 -5 -62.5
= A 14 15 -1 -6.7 14 15 -1 -6.7
% & 18 28 -10| -35.7 18 22 -4| -182 6 -6| -100.0
® K 11 8 3| 375 10 7 3| 429 1 1 0 0.0
% # 7 9 -2| -222 5 8 -3| -375 2 1 1| 1000
#H ] L 857 933 -76| 8.1 812 851 -39 -46 45 82 -37| -451
XIZFERES
7 7 608 650 -42|  -65 591 628 -371 59 17 22 -5 -227
5 = 201 236 -35| -14.8 179 186 -7|  -38 22 50 -28| -56.0
Z 8 27 24 3 12.5 26 20 6] 300 1 4 -3| -750
Fod L=} 21 23 -2| -87 16 17 -1 -5.9 5 6 -1 -16.7
% = Bl 1433 1515 -82| -54] 1244 1290 -46| -36 189 225 -36| -16.0
g A K 98 88 10 1.4 80 81 -1 -1.2 18 7 11| 1571
® Y B =% 93 131 -38] -29.0 42 60 -18| -30.0 51 7 -20| -282
¥ B A E| 1242 129 -54|  -42] 17122 1149 -27  -23 120 147 -27| -184
%N B n 173 163 10 6.1 158 152 6 3.9 15 11 4| 364
E #® 148 140 8 5.7 133 129 4 3.1 15 11 4| 364
# 8 13 14 -1 =71 13 14 -1 -71
# & 11 8 3| 375 11 8 3| 375
5 B 1 1 0 0.0 1 1 0 0.0
HoEtANEE
= =
I3 & o 78 43 35 81.4 73 39 34 87.2 5 4 1 25.0
B 1] 32 32 — 32 32 —
EBHlH L ED 29 21 8 38.1 25 18 7 38.9 4 3 1 333
BRDHWLED 15 19 -4 -211 14 18 -4 -222 1 1 0 0.0
HhULvE 29 2 3 -1| -333 2 3 -1| -333
Z DO thdFEIL 254 276 -22 -8.0 202 173 29 16.8 52 103 -51| -495
A BRI 103 84 19| 226 83 55 28| 509 20 29 -9| -310
DERITHE 18 8 10| 1250 15 7 8| 1143 3 1 2| 2000
T B & A 42 51 -9 -176 30 29 1 34 12 22 -10| -455
B oW K E 10 -10| -100.0 5 -5/ -100.0 5 -5| -100.0
BEIRZEHSE 8 2 6| 300.0 4 1 3| 3000 1 3| 3000
B & 12 20 -8| -400 6 9 -3| -333 11 -5 -455
&= P B E 39 57 -18| -31.6 32 46 -14| -304 11 -4| -36.4
T O 32 44 -12| -213 32 21 11 52.4 23 -23| -100.0




